
1)  Which number sentence should 


     NOT have a 7 in the box?





A.  


B.  


C.  


D.  





7)





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





2)  If the perimeter of the shape is 10 cm, 


     what is the length?





F.  10 cm


G.  4 cm


H.  8 cm


J.  6 cm





3)  9 flowers.  3 baskets.  How many 


     flowers in each basket?





A.  9


B.  12


C.  6


D.  3





4)  Solve.





F.  1.21


G.  121


H.  3.87


J.  387











6)  What is the most number of


      problems possible?





F.  68


G.  72


H.  12


J.  20




















1 cm





1 cm





6 assignments





fewest problems 8





most problems  12





5)  What is the least number of


      problems possible?





A.  40


B.  8


C.  52


D.  48





An after-school club is planning a field trip.  The chart shows how many club members can ride with each adult on the trip.





Adult�
# of Students�
�
Mr. Latarus�
3�
�
Mrs. Rodney�
5�
�
Ms. Flan�
6�
�
Mr. Donavan�
4�
�






Only Mr. Latarus and Mrs. Rodney drive.  They each make 2 trips.  What is the greatest number of students that can go on the field trip?  Show your work below.





Name______________________________  Date_______________
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